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(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%#BZ % - -~ -|3mEBZD -~ - -| 100kN/m#%#8% % - ~ -|3mEBZD ~ -
s 1.00 | 0.00 ~ 4.74 59.06 | =S | 000 ~ 4.74 | 1.79 9.06 st 1.00 | 6.00 ~ 5.00 59.06 | =n4 | 5.00 ~ 6.00| 1.79 9.06
2 100kN/mM%#BZ 5 -~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 543 67.72 | ENLSY | 000 ~ 543| 1.85 9.37 st 1.00 | .00 ~ 6.10 67.72 | =S | 500 ~ 6.10] 1.85 9.37
3 100kN/mM%E#BZ 5 -~ -|3mEBZD ~ -| 100kN/m%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 5.12 63.85 | FnLSY | 000 ~ 512\ 1.87 945 st 1.00 | 5.00 ~ b5.70 63.85 | =St | 6.00 ~ 6570 1.87 9.45
4 100kN/m#E#82% | 1.00 ) 0.00 ~ 0.01 100.21 |3mZiBA D ~ -] 100kN/ %8825 | 1.00 | 10566 ~ 1060 100.21 |3m%EBZ% ~
s 1.00 | 0.01 ~ 780 100.00 | #nst | 000 ~ 780 | 2.23 11.27 st 1.00 | 6.00 ~ 1056 100.00 | =nst | 6.00 ~ 1060 2.23 11.27
5 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 758 97.09 | #nRS | 000 ~ 7.58| 2.48 12.56 st 1.00 | 6.00 ~ 1150 97.09 | =nh4 | 5,00 ~ 11.50| 2.48 12.56
P 100kN/mM%BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 748 95.53 | #hS | 000 ~ 748 2.41 12,17 st 1.00 | 6.00 ~ 1060 95.53 | =N | 6.00 ~ 1060 2.41 1217
- 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 7.05 89.45 | #nRS | 000 ~ 7.05| 2.62 13.27 st 1.00 | 6.00 ~ 1160 89.45 | =n4 | 5,00 ~ 11.60| 2.62 13.27
P 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 685 86.71 | #nRS | 0.00 ~ 685 | 2.68 13.06 st 1.00 | 6.00 ~ 1060 86.71 | #n4 | 5.00 ~ 1060 2.58 13.06
9 100kN/mM%#BZ % ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 6.22 78.04 | FnS | 0oo ~ o000l 1.73 8.77 st 1.00 | 6.00 ~ 7.20 7804 | ThLSY | 5,00 ~ 720 1.73 877
10 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -] 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 641 80.61 | =nst | 000 ~ 641 1.81 913 st 1.00 | 6.00 ~ 7.60 80.61 | =hs | .00 ~ 760 | 1.81 913
11 100kN/mM%BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 000 ~ 757 96.84 | =nLS | 000 ~ 757|221 11.18 st 1.00 | 6.00 ~ 10.00 96.84 | =hLs | 5,00 ~ 1000| 2.21 11.18
12 100kN/mM%#BZ % ~ -|3mEBZD ~ -] 100kN/m%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 4.34 54.24 | =nRS | 000 ~ 4.34| 1.97 9.985 st 1.00 | 6.00 ~ 5.00 54.24 | =hS | 5.00 ~ 5.00| 1.97 9.98
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ st ~
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